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Vertical Division with aHelper Grid

Name:

Solve each problem. Answers
1) 2) 3)
9[2/6/1 3[2/82 9[9'3'6 -
2.
3.
4,
5.
6.
2 5) 6) "
7|394 2|781 5|772 8
0.
7) 8) 9)
4|642 4|200 4|920
1-9 [89|78|67]56|44[33[22]11] 0 |
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 2|9 2) 94 3 104
1. 29
91261 31282 91936
18 217 9|0 ” 94
8|1 12 36
8|1 12 36 3 104
0 0 0
4. 56r2
5. 390rl
6. 1542
7 16012
4) 5612 5  3/9/or 6) 1/5/4r2
71394 217 81 51772 8 50
35 6 5
4,4 1/8 2|7 9 230
412 138 2|5
2 0 2|2
2|0
2
N 1/6/0r2 8) 50 9 230
416 4 2 41200 41920
4 20 8
2|4 0 12
2|4 12
0 0
1-9 [89|78|67]56|44[33[22]11] 0 |
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